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Rural Society in India & Social Demography
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ukV & 1*u 1= rhu [k.Mk e: folkDr g A BHkh rhu [k.Mk di 1"u funi*ku Bkj gy
dift; A vdk dk foHktu 1R;d [k.M e fn;k x;k g A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.

[K.M & "/* Section - 'A"

viry?Rrjh; 1"u ivYi “ink ek

Very short answer type questions (in few words)

g1 fifed ueHl § A 6=l © el Bl g DI — 6x2=12
Attempt any six question from the following questions :
(i)  JAUSHIHRU FT 7 ?
What is Globalization ?
(i) #Aeve fagemor fod ded € ?
What is criteria analysis ?
(i) IO gARAT B7 |1 HEe forRay ?

Any two importance of Rural Reconstruction ?
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(iv) TTHIOT FEST BT 31ef T B ?
Meaning of Rural Society ?
(V) IS SHifedT fHd ded B ?
What is social demography ?
(vi) SRR B T fALvdad garey ?
Any two characteristic of demography ?
(viiy T4 ATceRIaTE T B ?
What is pre Malthusian ?

(viii) I dHeran SR fh FEd € 7

What do you mean by optimum theory ?
(ix) STHER @ PIs TP YR SIRTY —
Give any one definition of birth rate ?

(X) STHGR Bl YHIfAd B dTel BIS & HRG [IRIy ?

Give the two factors effecting rate of fertility ?

[k.M & "c* Section - 'B'

y2Rrjh; 1"u 1200 "kink e

Short answer question (In 200 words)

f=iferd vl 5 9 fhsl IR ugHl & 8 DIV | 4x5=20

Attempt any four question from the following questions :

(i) YR ¥ HYD AR & HROT fARgY ?

Write the causes of Agrarian movement ?
(i) HT & g9 P FASIY ?

Define the impact of Agriculture ?
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(iiiy  ITHTOT g B are] faRkay
Write the Hindrances of rural reconstruction ?

(v) 9Rd ¥ SHifhdl @ b B gHsmEy ?
Explain the development of demography ?

(v) AT ¥ o dde Rigia & aHensy ?
Discuss the Malthusian theory of population ?

(Vi) 9RT ¥ R vd goadr & Hed Bl W HIRTY 7

Classify the relation between education and fertility in India ?
(vii) STHifepaT BT ofiemeET Refd o F9smsy ?
Explain the Biological theory of demography ?

[k.M & "I* Section -'C’

nh?k mRrh; 1°u Yfuc/kiRed

Long answer / Essay type question.

i ol # ¥ fhel IR Ul Bl A DI — 4x12=48
Attempt any four question from the following questions :
(i) BYD JEAT Bl G DI & G BT gUIF DITY ?
Describe the suggestion to remove Agrarian unrest ?
(i)  YHATSAIHRI R U oikg felfgy ?
Write an essay of Globalization ?
(iiiy  TTAroT gAfATT @ A= SR v wrdw 1 aHsEu ?
Explain the variation Agencies and programmes of Rural Reconstruction ?
(v) SHifdhdl IR & gRvreT ST ? g9a usfa ud A @) fadTe
ISy ?

Define Demographist. Discuss its nature and importance ?
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(Vi)

(Vi)

(4)

et ST Rigid &l ATAracHD AT DIfTY 2

Give a Analysis of critical evaluation optimum population theory ?

YRA H Jg—aR Bl YATId DR aTel AMHISTD HIh b HIRDI DI qoid
DHIFSY ?

Describe the socio-cultural factors death rate in India ?

=1 R ey fewof forRay — (a1 <)

@) Ry 7a-—<
@)  9Rd H uoEAar

) ¥R H I Gdhe d BRI |
Write the short notes : (any two) -
a) Infant death Ratio

b) Fertility in India

c) Reason of water crisis in India.
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